
Floor standing enclosures

MOUNTING INSTRUCTIONS
7697-0318-02 REV. 0

Combinable one glazed door and swingframe



 

WARNING: When mounting on or over a combustible surface, a floor plate of at least 1.43 mm galvanized or 1.6 mm uncoated steel extended at 
least 150 mm beyond the equipment on all sides must be installed.

WARNING: In order to mantain the enviromental integrity of the enclosure, devices with the same enviromental ratings shall be used to close 
openings in customized enclosure.

2 3 4

5 6/7 8/9

10

1  



MCS DGSFM

2  



T30

 59
 m

m 
 62

5 m
m 

 52
5 m

m 
 62

5 m
m 

 59
 m

m 
 62

5 m
m 

 52
5 m

m 
 62

5 m
m 

 20
00

 m
m 

1

2

3

4

H

I

J

K

1

A C

 

Torque
8-9 Nm

2

A C

 

Torque
8-9 Nm

3

B C

 

Torque
8-9 Nm

4

B C

 

Torque
8-9 Nm

GLAZED DOOR Ref. Pic. Qty.

A 4

B 4

C M6x12 16

3  



T30 SW19

 D 

1 2

*

L
M 1

A

 
B

2

C

 

Torque
8-9 Nm

ROOF PLATE

*  - Used on enclosures 800 mm deep.
** - Torque value for first tightening. For following tightening, torque value recomended is 4-5 Nm.

Torque
15-20 Nm

Ref. Pic.
Qty.

D=600 D=800

A M12x20 4 4

B M12  4 4

C M6x12 2 4

4  



T30

 67
5 m

m 
 52

5 m
m 

 62
5 m

m 

 20
00

 m
m 

1

2

3

4

N

O

P

Q

B

A

 Torque
4-5 Nm

1

2

3

4

BACK PANEL Ref. Pic. Qty.

A 8

B M6x12 16

5  



T25

1

 D=600 

2

 D=800 

1

A

Torque
15-20 Nm

 

B

1

2

BOTTOM PLATES Ref. Pic.
Qty.

D=600 D=800

A St. 5.5x10 6 8

B 5 6

6  



T25

SEALING BOTTOM PLATES
Required for IP55

BG01 ordered separately

Ref. Pic. Qty.

A 4,5x8 6 m

B 25x25 1.6 m

C 4

7  



T25

1

2

3

B

A

1b

1

2

900

1c

H

 

Torque
4,5-5 Nm

2

 

Torque
4,5-5 Nm H

C

3

 

H
Torque

4,5-5 Nm

Torque
4,5-5 Nm

 

H

D

E

1a

A F

G

SWING FRAME Ref. Pic. Qty.

A 1

B 1

C 1

D 1

E 1

F 2

G 2

H M5x10 10

8  



T30 SW13SW6

4

5

3

1

2

3

 
H E

A

G

C
 

*

* - Remove with straight screwdriver

1

2
Torque

11-13 Nm

Torque
15-20 Nm

2

A

G

H

 

*

Torque
11-13 Nm

1

B

I

 
Torque

4,5-5 Nm

4

F

5

1

2

D

E

SWING FRAME Ref. Pic. Qty.

A 2

B 1

C 1

D 1

E M12x12 2

F 1

G M8x25 4

H M8 4

I M6x12 2

9  



SW13

1

2

3

B

Torque
8 Nm

 

G

F

C 1

2

D

Torque
13 Nm

 

3
A

F

E

Torque
10-15 Nm 

G

E 

EARTHING Ref. Pic. Qty.

A M8x30 1

B M8x20 1

C M8  1

D M8  4

E M8  2

F M8  2

G M8  3

10  


	38a2cef2359f0f4680a7543a7395bf72e1e629ea9c7e9d80fed344b1142cceaf.pdf
	Sheet1
	Sheet2
	Drawing View126

	Sheet3
	Drawing View135
	Drawing View136
	Detail View H (1 : 5)
	Detail View I (1 : 5)
	Detail View J (1 : 5)
	Detail View K (1 : 5)
	Drawing View141
	Drawing View143
	Drawing View145

	Sheet4
	Drawing View155
	Drawing View156
	Detail View L (1 : 3)
	Detail View M (1 : 3)
	Drawing View160
	Drawing View162
	Drawing View164

	Sheet5
	Drawing View171
	Drawing View173
	Drawing View174
	Drawing View176
	Detail View N (1 : 5)
	Detail View O (1 : 5)
	Detail View P (1 : 5)
	Detail View Q (1 : 5)

	Sheet6
	Drawing View188
	Drawing View189
	Drawing View190
	Detail View  (1 : 5)
	Detail View  (1 : 3)
	Drawing View194
	Drawing View196

	Sheet7
	Drawing View294

	Sheet8
	Drawing View32
	Drawing View33
	Detail View  (1 : 4)
	Drawing View35
	Detail View  (1 : 4)
	Drawing View37
	Detail View  (1 : 4)
	Drawing View39
	Detail View  (1 : 4)
	Drawing View41
	Drawing View42
	Drawing View44
	Drawing View45
	Drawing View46
	Drawing View48
	Drawing View103
	Drawing View105
	Drawing View106

	Sheet9
	Drawing View54
	Drawing View72
	Drawing View73
	Drawing View74
	Detail View  (1 : 6)
	Detail View  (1 : 5)
	Detail View  (1 : 5)
	Drawing View81
	Detail View  (1 : 6)
	Drawing View83
	Detail View  (1 : 6)
	Drawing View85
	Drawing View86
	Drawing View88
	Drawing View90
	Drawing View92
	Drawing View94
	Drawing View96
	Drawing View98
	Drawing View100
	Detail View  (1 : 6)

	Sheet10
	Drawing View241
	Drawing View264
	Detail View  (1 : 3)
	Drawing View266
	Detail View  (1 : 3)
	Drawing View272
	Detail View  (1 : 3)
	Drawing View275
	Drawing View276
	Drawing View277
	Drawing View279
	Drawing View281
	Drawing View283
	Drawing View285


